1. Question: {31 9 I A I 2T~

A) fRefe

B) 3%
C) oW
D) 819

Answer: D) 8§19

Explanation: - IF%e 936 TH N7 9 0 AT NG S (I 55 I I 77, O [Fof&
| - T ST A1 3 0T 01 2 §IQ | - 797 IO STHeN 11 I A I3 a3 737 spfeq
AE @ TART J& T O FOTF (I

2. Question: "I &¥lFeT M0 F (F Fifote 51T 5746 F1F T5AT?

A) 5955 39

B) N WS
C) RAGT JEAET
D) S5 IETET

Answer: A) %9964 87

Explanation: S5 IEREIETT 39 S, RIS | AFCAIER 251 (ST NPT fofer Sravsrzet
FE|

3. Question: 8% IIFHT Hire FF-

A) e st wiama FeE =
B) fAma xf&sie wiffmers FeE =
C) fawna F5fesrer wfdwerd fFera 2
D) @ Fxfesrr miama FFg 2

Answer: C) fRwye F5fesrer wiawerd a2

Explanation: fSaa & (&3 5T IR NOF | STRIGT, NOF I SHfehe 1+ I - {39, 7wy,
wfHGeT| STa: IR IFNSH SAfSH |

4. Question: (F1F & @A TS 970 TF®?

A) e



B) ST
C) It
D) fasanst

Answer: A) T%R]\G

Explanation: A AN T@IST- ) FIF (F181)- FIINET, FTEE, FIG, FEAE, FETIN | ) w7
(&3, SIN)- TR, THAE], THIA | ©) FI- FIGTF, ATHS, ANEF, TN, ACEF | 8) vy (<)
fersranfay, forsrager |

5. Question: (FF IAHG BH?

A) TP
B) ST
C) =
D) sl

Answer: B) TRq

Explanation: SHaCT (771 I: TR A6 W 5o S 79| VI + S = s s o - Tud e
- forsfaT - forvig [SS5T: A IR AFGH , TRAT AFTG 1]

6. Question: IR NIfR(ETA 2fSRICT MEITS JFTNH Ff-

A) TPV FF
B) sTifafaw ¥

C) CT¥ HISFR
D) ™2 3z W

Answer: B) Sfafaw a1

Explanation: - T MNRSTH S YT HF M2 250 S| - ©F Abw 376 (FHNTP
ST RO SETAT | - (STNGH SETole SIS ey SIS MRS ST 4 FIT Toe] FE | -
TRFCI® FHYETH ST NP I 255 T A1 i F1 T61 FEEA |

7. Question: '(NWF SIFF, G AFNISA-NF I ST IBTOI-

A) TS 38

B) Atuey 5159
C) Seraay W
D) g oW (N



Answer: B) Ity éﬂfd

Explanation: STQessi (7 Ry a3ee 3, MfoF1, | - fefd swas A 20 MTEF 6IFT
ST FEA | - O SN FIT et BT Ea afsper T & AT S| - Qe ZW G ST 3
o AT STH© QA SATels el 7T F(E A |

8. Question: N 75 Ab® AT~

A) TRFES
B) SMATAFIIT
C) Mfez1=Ry
D) a1y

Answer: B) AI{dPIKY

Explanation: M@ &[0 18 A5G HIF(, NOIFH| - FRET T 18 S8 ST ¢ SINE
JCNE (SR FEMOTF A S ARG S S0 SR FEA| - M@ FT0e 76 IRTATSIAF @0
HRGF | - MR NI 76 A NAFF = TIT0F |

9. Question: (@RAT @ SATIF ANIFT?

A) ST Aot
B) (61 g fer

C) SR
D) $HFI@H O3

Answer: A) T&F o1t
Explanation: - '@ 5/FafG IFTow s NENT At "$HF@T S SAMCIF bf¥al - @RS, T

AT (ST fags (ST 1R Afee AR 93 SFNE| - (FIRA T 5 (AT TRSIE
SRS FA (58T SR

10. Question: fTHEY @FF T FI FIAE [ [Tofe 70 TAR?

A) "TETHE R Tom|
B) 'SI&1d' 1%

C) sTE 'CH o' (T
D) (RTOT® B A=

Answer: C) TS GG (05



Explanation: IF5e {FIrma So7 'S TET 7' S T FIE (T SoFM6 T8I I, B2
FI ISP | I IEE Ao [Fofea @ &, a3m 37 7= [Fo& : w@al 39 @6 | (@O 5F
M|

11. Question: T IR Ff-

A) SHTSwaTT

B) &G 73
C) Fferarst F17
D) SiTare= wrT

Answer: A) SHIGHAN
Explanation: SiTaa™ wraFse 39, Frfaw| fSf svos TET v (T FAMT I swevarzer

FE| I AW VT foueT oo SIS SST SN | ©fF fre1 sty urT fRere Fermss 3
TGRS | fofal AT Sas| afedrel T fwEe | Mol FHFNE! wrT e aFsa |

12. Question: IseNd X I© FI-

A) FINT I TIFIRS =TIferfsy

B) Ioe AF I Fo© I

C) AT (W& IR Fiow® (FTFHI2eY
D) ("TeT IR Afbw R Tfzes

Answer: A) TS SR (S TG

Explanation: ¥ MR ToEF 8 SRIAIS 7% & [(fed o 97 [3fey amaad @] -
(FSIES (SN 12 1 SRANE JECA YN IRAT, INF 3 ST b® NROTF IET0A AT IRV
RSy |

13. Question: aF FYF TFT FF - '] IAT 27"
A) JISE
B) 917&

C) I
D) 9

Answer: B) 97

Explanation: -ﬂT@WﬁWWﬂT=W-ﬂTWWﬂT@=W-ﬂTWW@%=



TS - [T 1 2 o = Sief@ [S351: IRAT ©RT 8 WiRey a1, . CNf¥a C12F]

14. Question: FIN FoFeT 932 NIF RIEF 977 To@2 7w -

A) JFTIST 9T2 SIFObY

B) abfer ffaf3i a3z Frves™ 913
C) Mfafzm a1 a7z wrad 9%
D) F I 93 (ST JIAT

Answer: B) 955fe ffaf3r a3 v 917

Explanation: ISTET Te@d (¥ 8 ST To@d BFF i@ IR Wy FE5T TeFe1ma [T
g% | - SEAETT FANEF 4T - S, M1, (¥ST, AT, 9G] FESTE, T S, 57, 521, FToa
RN - R 95 4F@H SRR se | 96 weT 2 sfe@fsrer 27| W wersifor T ST
T TIDIF| - PITACT TAGH A (TR | TITAOBIATT FES RfT 2T SfIPT TeT P |

15. Question: (FTH % HTQF WO TSTT J& TATT?

A) &5t
B) ST
C) Tt
D) %

Answer: A) 5t

Explanation: 193 ' {6 W% SPfe-gerd 2 Vo8 + 1% | aft 936 ige F3T0i7|

16. Question: FTSTHTAT IS T (FT (STGT HAEF TAAICH?

A) ST §1; ST A
B) 3% 41, fowm (FTT
C) F2-FToeT; (FS (F0I

D) 3% &1f¥F; G eordt

Answer: B) 3% 4113, & (ITT

Explanation: - STSIF STH JT% - 5FTF (7113F; ITF SI@F @ oz | - Jad (OfF - @b 7, o -
TF /AT oF - BT Y| - SIS FIF/FF SIS - [oTa TS /Ag T

17. Question: IR MNRSIF FHEF Foym LT



A) T6F

B) (=1 519
C) ¥q=

D) ffife sfer

Answer: D) fifs FfJer

Explanation: $38 J@F 1318 Iqghe, ¥ 7z, Ia~ (0] (T FFeN© TI7T M -2 M Fe1| -
Ffer ATBH 8 747 JoF YR 213 Miower s o sqiR 1 - gfas Jpr @ a2 fMfs sfaer 3
REEREeREEEIE

18. Question: I I Ao ATTITOT IRAT F15-

INRIGICEIS]
B) =5 ey
C) &I

D) 2355 Il

Answer: A) T (918

Explanation: - I R0STA S YF FJ M2 250 3N | - ©IF Afbw A3(6 (@HNTH
ST RS SETAT | - (STNGH SETole IS ey SIS MR ST 4 FIT Toa] FE | -
TATON® NLTYSTH AT S HJ 20T IETT T (0T FIY 6] PR |

19. Question: IR ST (F1 Gf6 =1 TlaT ST X(© 2T FER?

A) BTF, BIFF

B) ¥%d, TS

C) fa=, (A=Al

D) &1, fofar

Answer: D) &, fof9

Explanation: 5T X1 8141 1R %1 b, IRAWTH, ©1F@ , S A3 sefs (qera MRS aTe=
SETSIN S AfFTTeTe Ff6 AT 3. F6S O 8% Ao 56 FE FE MY MAI[CH ©. SIFF 550
GIECIRICRIR eI

20. Question: T. W TRGATR T THTA©-

A) TS RFTTF



B) sTiftera 2oz aofie
C) 5T 61
D IRICNEL

Answer: D) SEToSQ%

Explanation: T. 3% TRIATR e Frifam, iRferd 8 Srmes(dn| Srve SNETR So SR
SPENIGE SR TFSTA] (ST (AT S ST S| S>¢ ST TFIe A3 S 2MeFa’ T6a11

FEA . [T RGER|

21. Question: What is the verb form of the word 'Shortly'?

A) Short

B) Shorter
C) Shortness
D) Shorten

Answer: D) Shorten

Explanation: - Shortly 7=fG 2¢T adverb, - Shortly 95 adjective a1 noun (T short 432 shorten X1
verb. - English Meaning of Shorten: make or become shorter. - Bangla Meaning of
Shorten:(RG/: 35 T3IT T FAT; ATGT FT; 1 FAT

22. Question: Choose the correct sentence-

A) Let he and you be witnesses
B) Let you and he be witnesses
C) Let you and he be witnesses
D) Let you and him be witnesses

Answer: B) Let you and he be witnesses

Explanation: 3:@&RE (@11 I IFIEF Pronoun I BT 231 fHIGT I671 318 I second
person, BIF*F third person 433 (T first person. Let 45 5@ Objective Pronoun 2@ @12 Let you
and him be witnessed T 3% T3d|

23. Question: Choose the correct sentence-

A) The matter was informed to the police.

B) The matter has been informed of the police.
C) The police was informed of the matter.



D) The police were informed of the matter.
Answer: D) The police were informed of the matter.

Explanation: Police (noun) (S3f851® 'noun' SIS9T 'singular' &, 'plural verb' 52 533w 2J) (the)
police SMRTTYT FHX f1fére Sa11E AR, 71 Inform someone of something a7 o1 R
FISE (I [T S

24. Question: Who, Which, What are-

A) Demonstrative pronoun
B) Indefinite pronoun

C) Reflexive pronoun

D) Relative pronoun

Answer: D) Relative pronoun

Explanation: Relative pronoun %G I & relation 31 5% R (| A8fe I MR I
@2 who, which, what, whose, whom, that etc.

25. Question: Choose the correct one-

A) Mispel
B) Misspel
C) Mispell
D) Misspell

Answer: D) Misspell

Explanation: Misspell is the correctly spelled word. Misspell (Verb) English Meaning: spell (a
word) wrongly.

26. Question: Fill in the blank: 'What is the time ___ your watch?’

A) With

B)in

C) at

D) by

Answer: C) at



Explanation: I&d a1 (ST HfG1® $I61 IE? (ST "G a1¥ FAMS by your watch’ phrase
ICRISEICERT

27. Question: Fill in the blank: 'Give my to him.’

A) Warm compliment

B) Heartiest compliment
C) Best compliment

D) Compliments

Answer: D) Compliments

Explanation: Compliment a5 plural form 2T Compliments. English Meaning: a polite

expression of praise or admiration. Bangla Meaning: 2 RST[6, WETWWI
'‘compliments' is the appropriate word to fill in the blank.

28. Question: 'Caesar and Cleopatra’ is-

A) a tragedy by Shakespeare
B) a novel by S. T. Coleridge
C) a poem by Lord Byron

D) a play by G. B. Shaw

Answer: D) a play by G. B. Shaw

Explanation: - Caesar and Cleopatra is a play written in 1898 by G.B Shaw that depicts a
fictionalized account of the relationship between Julius Caesar and Cleopatra.

29. Question: Who is the greatest modern English dramatist?

A) Verginia Woolf

B) S. T. Coleridge

C) P. B. Shelley

D) George Bernard Shaw

Answer: D) George Bernard Shaw
Explanation: George Bernard Shaw (1856-1950): Irish comic dramatist, literary critic, and

socialist propagandist. - George Bernard Shaw is considered to be the greatest modern English
dramatist.



30. Question: Who is the modern philosopher who was awarded the Nobel Prize for
literature?

A) James Baker

B) Dr. Kissinger

C) Lenin

D) Bertrand Russel

Answer: D) Bertrand Russel

Explanation: - Bertrand Russell was a British philosopher, logician, mathematician, history
writer, social critic, and political activist. - He was awarded the Nobel Prize in literature in 1950

31. Question: Who is the author of 'A Farewell to Arms'?

A) T. S. Eliot

B) John Milton

C) Plato

D) Ernest Hemingway

Answer: D) Ernest Hemingway

Explanation: Ernest Hemingway is an American novelist. He was awarded the Nobel prize in
1954 for literature. A Farewell to Arms is a novel written by Ernest Hemingway, which was
published in 1929.

32. Question: Who is the most famous satirist in English literature?

A) Alexander Pope

B) Bulter

C) William Wordsworth

D) Jonathan Swift

Answer: D) Jonathan Swift

Explanation: « Jonathan Swift is the greatest satirist of the 18th century. « His famous books: -

Gulliver's Travels, - A tale of a Tub, - A Modest Proposal, - A Journey to Stella, - The Battle of
the Books

33. Question: What is the synonym of '‘Delude’?



A) Demand
B) Permit

C) Aggravate
D) Deceive

Answer: D) Deceive

Explanation: Delude (Verb) English Meaning: make (someone) believe something that is not
true. Bangla Meaning: Tolde/f[Ias F41 Synonym: mislead, deceive, fool, take in, trick, dupe,
hoodwink Source: Oxford Dictionary

34. Question: What is the noun form of the word 'Waste'?

A) Waste
B) Wasting
C) Wasteful
D) Wastage

Answer: D) Wastage

Explanation: Wastage' is the noun form of the word 'Waste' Wastage 3@1‘53??[, 2N a\;)I\_M). LIERIRE
T T ATCEI SIHAT; FF, 2N, AT T TS0 Jiw| Wasteful and waste both can be
referred to as adjective and waste at some extent as verb. Wasting is in the verb+ing form.
35. Question: What is the antonym of 'Queer'?

A) Integrated

B) Odd

C) Abnormal

D) Orderly

Answer: A) Integrated

Explanation: Queer (Adjective) English Meaning: strange; odd. Bangla Meaning: 91%w;
SFreIf9% Synonym: odd, strange, unusual, funny, peculiar, curious, bizarre Orderly arf

SRR OIE, Integrated - 913, Abnormal arf SreIfAF | So, 'Orderly’ is the antonym of 'Queer’.

36. Question: What is the adjective of the word 'Heart'?

A) Heart



B) Hearten
C) Heartful
D) Heartening

Answer: C) Heartful

Explanation: Heart, Heartful - Noun Heartening - Adjective Hearty - Adjective Hearten,
Heartened - Verb Source: Oxford Dictionary

37. Question: @ AB 432 CD Gt ST &1 ™9 P fI<jte (=% FAE (P16 oy?

A) PC=PD
B) PA=PB
C) PB=PA
D) PB=PD

Answer: B) PA=PB

Explanation: PB = PD ST« GG STl O] T11 (%% FAC 367 AfG© 9 e7aod A SRe=
ST 23|

38. Question: FED TN 12 TAT SNT% 50 Fa IF aF0 (@F08 TN 77, 957 f6a@ I 2=
A) F5fcFa

B) bR%

C) TR

D) 7%

Answer: B) 5@g8

Explanation: - (X SI¥0® S1AMG I W1 8 NG [Fe Fef G35 ATA ©T (FIISET FHN@T 797
OIF FTH IE| - IFOIEF, T N THRBHEE 930 O T TS AR WHze T=e7 T
A oA O TIY 3T I |

39. Question: foAd 5 2¢% (& T8Te 956 AT oy 283 astfererT S (¥ fofe Traw 57
i (T A7 P AT oy 01877 TqW o T Fo FANN?

A) %
B) :¢%
C) 9o%
D) 0%



Answer: A) 3%

Explanation: X¢% Jf&(® G = (S00 + 3¢) = SYCBIFTI 3¢ BIFF fofel 8T FW = v3¢ - boo =3¢
BIFT S BT fofer AT FT = 2¢/53¢ BIFT boo 7 7”7 = (RQ X $00)/53¢ = 20 BIFT I3, ToFAT 20%
SR

40. Question: T TAFT 936 @@ F AT AT T 20 o7 M&y vefb T Soa foer| fF T
Y[R ©IF Sl I (7 forget Sod e | STo7% 0T S Sy | Jfw =7afG oPa] 9¢ Bl 757 T O
I AT P fRe?

A) s o
B) vv 6
C)x¢ fo
D)zo 6

Answer: B) sv 6

Explanation: &fS, Ss1R203T = x (T 6T T8 (7T = x 97 75% = x 97 75/100 = 3x/4 6w, 15 +
(1/3)(x - 20) = 3x/4 (45 + x - 20 )/3 = 3x/4 (x + 25)/3 = 3x/4 9x = 4x + 100 9x - 4x = 100 5x = 100
x=20

41. Question: (@FT 8 (FeF (5T FBIT IATFM o 3 ¢ fF| 61 7Y 8¢ fFH T 7Y 9F317 Afomw
FE @ AM© Fo Tb| THI A5G ?

A) > TGY

B) S Hebl
C) So =T
D) SX HebT

Answer: B) S BT

Explanation: (@A I3, (F1F (I5T = 10 + 5 = 15 {F.60./561 15 .61, (F0@ 5597 70T = 1 =B
45 .1, (W0 ST 6T = 45/15 HeBY = 3 HeBY (A0 AGFA, (NP1 (I57 = 10 - 5 = 5 [F./0./561 5
f3.131. 3@ 9rsTte ST 10T = 1 5eG1 45 5.3, (@ SISite g T = 45/5 561 = 9 TB1| S0l (b
SRY AT = 3 + 9 = 12 HGT

42. Question: 5, 59, 39, @, | sTFT6! STANfG Fo?

A) @
B) Sox



C) At
D) o5

Answer: A) @

Explanation: S3 ST = §8 ST TRAT= 5% X 3 - @ = 59 OF AT = 59 x 3 - @ = 3D 8 AT =3 x X -
¢ = ¢ ] NRAF = ¢VX I -C=dod

43. Question: Y0¢9v.8 TG F© FETEH?

A) R.0¢998

B) 0.30¢9@8

C) x0.@9we80

D) o.0x0¢9w8

Answer: B) 0.30¢998

Explanation: SIaT S1fel, 10,00,000 fafersmer = 1 fFEmnsmT 20,573.4 fifersms = 20,573.4/10,00,000
fRES = 0.0205734 fFETsns

44. Question: 936 F RAWH [P FAF T b, So AT S NA® TN TF | I ISFNHS
SIS TF | P FT FAE FOI RIT ANR?

A) wooo
B) 3800
C) Sxoo0
D) wboo

Answer: B) 3800
Explanation: 8, 10, 12 AT a.N.8 =2 x 2 x 2 x 5 x 3 = 120 a7® R@A®4 8, 10, 12 NfH© SSE]

@ | 93, Wamd INFE FE© 2 A8 (F 2 x 5 x 3 T4 89 FA© 7| YOk RAGH IMFE
SIS IME IM =@ WATET = (2 x 2) x (2 x 2) x (5 x 5) x (3 x 3) = 3600 S|

45. Question: ¢: 5%, 9:3 9T 0 1 b 97 T e F8?

A) 93 : SoC
B) 93 : w¢
C) boC : R
D) vt : &R



Answer: B) 93 : @¢

Explanation: (M3AT AR, ¢ : b, 3:3 AR 9 : @ﬁﬁ@?ﬁ’ﬂ@= (5x7x%x3):(18%x2x6)=105:
216=35:72

46. Question: SIN TGO IFC AT AT vt fOfST 2T 97 =T T3 F9?

A) b
K
C)»
D) v

Answer: B) 9

Explanation: S35 329 et R0 (FTerd AfZ31er = 180 - 135 = 45 O3 | S[oaR 2d M7 =
360/45 = 8 o1

47. Question: p-3 A $© 2 4x2 - px + 9 AFC T I5f TF?

A) 10

B) 9

C) 16

D) 12

Answer: B) 9

Explanation: 4x2 - px + 9 = (2x)2 - 2.2x.3 +(3)2 - px + 12x = (2x - 3)2 - (px - 12x) S[edRkR p = 12
2 AIFAG Jefasf 2@ |

48. Question: fAEA (F1F MM V2 932 V3 97 FHIST FeTv A2

A) (N2+~3)/2

B) (V2.V3) X 2

C)1.8

D)1.5

Answer: A) (V2+3)/2

Explanation: V2 = 1.4142 (37¥) = 1.4 (371¥) V3 = 1.73205 (I@) = 1.7 () HodR 2 AR 3 49
FEIIST T SR XEA = 1.5



49. Question: x2 - 8x - 8y + 16 + y2 -27 NG F© (15T FAE (F51H A0 oI5 2@?

A) -2xy
B) 8xy
C) bxy
D) 2xy

Answer: B) 8xy

Explanation: x2- 8x -8y + 16 + y2 =x2 + y2 + 16 - 8x - 8y =(X)2 + (y)2 + (- 4)2 + 2.x.y + 2.y.(- 4)
+2.(- 4).x - 2xy =(x + y - 4)2 - 2xy JOAR AT A 2xy (ST FAE MG oI5 2F |

50. Question: 2x2 - x - 3 97 TS &~

A) (2x+ 3)(x+ 1)

B) 2x - 3)(x- 1)

C)(2x+3)(x-1)

D) (2x-3)(x + 1)

Answer: A) (2x + 3)(x + 1)

Explanation: 2x2 - x-3=2x2-3x+2x-3=x(2x-3)+1(2x-3)=(2x-3) (x + 1)

51. Question: a4 + 4497 TS F [F?

A) (a2 +2a+2)(a2-2a-2)
B) (a2 -2a-2)(a2-2a+2)

C)(@2-2a+2)(a2+2a-2)
D) (a2 + 2a + 2)(a2 - 2a + 2)

Answer: A) (a2 +2a + 2)(a2-2a-2)

Explanation: a4 +4 = (a2)2 + (2)2=(a2+2)2-2.a2.2=(a2+2)2-(2a)2=(a2+ 2+ 2a) (a2 +
2-2a)=(a2+2a+2)(a2-2a+2)

52. Question: %6 SR AQEE 43 T2 v& FEF| Agets Famd Fo?

A) v FSEER

B) vax FRGE
C) v8 Ao



D) b8\ ISAGE
Answer: A) w3ve IAIGIF

Explanation: SISaT1 S, Y912 fag®a 9129 WH a 2T (Fa%e (V3/4)a2 (W33 IR, N2
fagsfod a3t 9127 WEf a = 16 o1 Yok, Ageita Fanwd = (V3/4) x (16)2 = (V3/4) x 16 x16 =
643 TG

53. Question: GIFT (Y@ TANF @A TSI AR NISINT (EAT -

A) 25T S azmeEs
B) MEE® aBES
C) tTF® a3

D) 8513 AT

Answer: B) TH199 A@EN

Explanation: According to the website of BR 3T S a3 G 1-fF0TR518, MEE© I3
BTG 932 ST AFNEAN GIFT-(IHN(T B 56T S|

54. Question: TIRTCCTT J23H R13F-

A) STIREFEI8feT

B) =2

C) teafae
D) TP

Answer: A) TGI8

Explanation: - 0T ISR (NG ©qofb 23T TA®| - 97 MET FIGEE G 3T J P[P
21371 - aft 6 8 CNTSIATSTR (SeT1 IS fAge | 97 SIS 38, ¢00 (REA|

55. Question: fF3FIOR -97 THwOT TF-

A) Soso NBIF
B) sqwo fAGE
C) swus BT
D) sxwo f6E

Answer: C) bou8 fit@E



Explanation: IR WiRFe-JHIPEF MRS SRS 516 SH6] Yo NG| ASET JTe ARSI,
FEAH, WETOTRG, T 3 FEAT (ST JHR0T TS | TAoN T TATHTT (FSFTG: 97
THeT 200 PG ST T MATETT ST 97 T&BT s20s FBE| 46 §TT3 IFwaaH (S
e |

56. Question: [SSFEIF TFAfOF TF; B2 A ST [FHLT NGHR FAT TAR] IRTCCT TSN
JHF B T M@ AN TR M-

A) > @16 9¢ T (&Ff¥
B) » (F1f6 @& a1 (FfdF
C) » (X1 o M (FfH
D) » (F1f6 Y& T (&

Answer: B) » (F1f6 wa 1Y (&3

Explanation: - f4fF 51 51 bbb TUET 2G0T 2038 SE TETE » (F16 La T (FF 57 S5
FE (@G O IRACT| - IRAC 5T (ANEF IS TSI (V0T (NG Sbafb BT I TR

57. Question: [JCIF STIEH ST [FRET AEHR FH1 JA®] CIFT R0 ITNFH Ao I3~
A) vo FSfART

B) »o IsfM3e

C) SYo FsfaRe

D) SWoo F5f fHf

Answer: C) Sbo I3

Explanation: s> SR SIWRISHTAT T[N, - BIFT TR 1 BT (NETAEN I ST oo
Sboo Fsf R - AT AT LY FTHIET | fTaA(T SFITREGT Oy F[A, 1T GIETATEN ITH1H
e Ue e 3 o=

58. Question: 36 FIGT MMGF STREGT 35~

A) ©.¢ J9

B) 8 er

C) & e

D) 8.¢ e

Answer: B) 8 J¢

Explanation: 3 (3T S wx.3¢ (% 2|



59. Question: S AN M TR G Tely IRATWCTH TI1I-

A) STBTR =TT FATRA e 521 e

B) STOTI-SrA @ (T SIST AT Jeley
C) IRATWCT ST STo7T 78 faysfier
D) (T ST foysfier

Answer: A) STBITE T FaI5&A T 3312 3o

Explanation: - S5 7017 = 2312 & a7 IRTCTT TR et (o1 Seiia fosfier

60. Question: SFE-IRAT (TN A4t FOPTAT ANTON T T5H-

A) TR (-8R [T SFTA

B) TR AANSTET A Srestraer

C) T o=l 7(wrTa ey SRy
D) 7CiCTa FAISER J13ve] I

Answer: C) o051 fTatel 7(a0Ta M5 SRATfsTeT

Explanation: $>93 ST J6 T SSSea! IR 3 HoT0a! ©lFe NS TG JEY
R (TR AT 70T [{AOTS Ta@ SIfeq Taid F S FREH AT a3 T-Te] 0F
(R TN A THCT TEF FFT ST 3 I, TN O 3 TR FACH [FINH© FFT ForT 3 T
YT FarF FNT AT 8 (76 FF@F SR NS ARG, TST (077 ST TEHF I A
AT TSHIFE T ST AIE HIRNF AT IRTECIT T SIF© N ATFH T8TF TS
RS TETGT IERET T 213 63t SITe-IRamw T (@Y F6t FHre sifde 23|

61. Question: T IRAECIT ToTF] TV Salfhe TIET LS WS-

A) x¢ 716
B) 2@ A&
C) So 16
D) x Mt

Answer: A) 3¢ 6

Explanation: IRTTCTA STSIY TOTFTH fESRAR FET TFA | 5593 S ST I TIOH MR
T J(BF TelT TOFF a3 FEA| 97 Y& FIT© N3 Ab® TOIFIH S»%0 N b I G
fRIRMTET TOAT TP 2F FEF S5 M3 FEF HITARTT W 8 SN FEFS AT GO FEA [
295 WETR XFT J16 6] AR I6eay 83T S5 fSff o 57 7 737 5303 Sl FE |




62. Question: 'SIEIAT IRTWCIR (F1H AFEF (IO ?
A) Y GBI

B) fSeT6

C) k7

D) FovaT

Answer: B) &6

Explanation: SEIET ST 4% JF1F ST (o6 | NHFTS 27 TN AP 4 5T Tofe |

63. Question: GIFIF fTT® ©1FT I5oW (Ofd FEMRETH-

A) EIIZ AT

B) A91F NieR{ER
C) 33 aIrzem s
D) f3rsy (snery At =1fE fee va1 2@™

Answer: B) q313 NeR{ER

Explanation: 736 1o $a7 2@A®

64. Question: (F @ I (Y@ N IR SO AL fFbw TF 3T IBAR A2

A) TAFS (NRTEP TR
B) %11 AT

C) STl 2w SNF
D) *Tersyfel RIS TR

Answer: A) TAFSd (NRATTF TR

Explanation: - =Tsj{dl 2T M2 2T 2T TR RO AfedTel| - FAEfs, Tesiis 43R a7 S
TAEST3 A FE@ 2T M TN IRAF 9F%2a AHoF w47 Mo FEA| 2o 92 {77 (N7
S (FT YT S TS FACS =T [ |

65. Question: IRATCIE CHOATTT FITF TFH TSI (ST~

A) TASTH
B) &fs1a



C) faemy=
D) STETSIE

Answer: A) TR

Explanation: IRCT SHSNES R 972 foTSTN2RE FITF STah1a NS (5= SN2, IST,
35T, FHEH (ST | A=TST FTEF MRS, T @d TG 952 ISTIF SHSIE SIS T@@ |

66. Question: IRAWCIF SIAIGT THT TSI (STT=-

INEIGIRIE

B) ISMASTE
C) (CaR1G
D) fex=

Answer: A) TSI

Explanation: IRNCTR ST 3 T-5J &1 9@-® (subsurface) SIamnoa sae a3
RIGISY

67. Question: "9 JTAT =1+ fETT FTATH ST FHEOH T CTAT SN Fite N 957

A) Sfzg IR

B) TSR (HIYST
ORIESERIRICH

D) M1RJI-Sei-AeTs (Gt

Answer: C) *T[d SRS

Explanation: - ST S fSf33 T3 FTeT "92Me I J1 e I9a17 S FREOIF A®
CTTE N Fivte ST Hifsva T fq@ asifee) - a7 Ffier: MRII-Sef-oiems (1Yt

68. Question: FXFISTG 9% W1 TR AT e, ST ©TF I fizel-
A) PR

B) Ffef

C) IFe!

D) S5

Answer: B) Ffs3ef



Explanation: IR ST6I Se/MSTIE N I RO TG o S ABHeT | - 98 Sefsied orsfe o
FRPIATS | - NRFFASTG IRAICTH AFf6 AAres a6l TS | - iz a3 F1a RS2 L334 AT
QST A Ao foae|

69. Question: TR AT F1es MG (T T3 AN ST ©F FTT-

B s
B) - - 75T
C) T2 TIT- 575 3
D) FTF- 205 27 TP

Answer: A) TTA-SJS-X0-T1T-H5

Explanation: &S A9 F1%3 TRG (T T3 S I ©f R(E: A-R0-NIS- X0 -1 B
fSTSTETSTCET =TT S ToI00 2@ | 2w 1S FE SO oie 2@ IaTF T | 078 a8 g STz 9y
FAF AR A1 BF O 20 A

70. Question: fF¥Te NHF *NT sFTeT FARF AEH A Fo-

A) T
B) Mo
C) (TN
D) =PI

Answer: C) (da@1¥
Explanation: R 5o ] NS (F3) 9P @9 fofd IBTT (ST FRTEI SH] 20| TR SEeT

MERTIER 2fox™ 18| FR® = (, S T3 FET To1F 77 e a7 953 fofd Fadt aens
GIEISCIRGS B G BRI

71. Question: ST o JFIT AHT FE-

A) G TR 8@

B) 1 I 5883

C) © AT 4283

D) a fS0Ta 5985
Answer: A) XY TR $289

Explanation: fGSI¥ a3 S Ts=e@1a! ST, Sy 8 Fe1fe@ 3@ T+ o7 77| ST 9



ST, 8% NIE M TANG TS AP (AHIG MFTT FE| AT v»8S N v forrag MiFw
JoA1g AT R8T faym SrTarzd 3@ |

72. Question: (MW SAHEF I B3 (ST ST~

A) 2T AFN F(© (N0 AIIE T FT

B) AP O 7T ST FT

C) T T (ST NHIR fA*6© FaT

D) OET b TH6 JMed FAT 2@®

Answer: B) 3@ $ES GAT AT ST

Explanation: 3fG 91fee 41 2@®

73. Question: 5SS AR (SR SEIEAT 8 AT DT (T COIGI Aef[0© 27 ©TF T~
A) I CHIBS CHIeT™

B) (I3 16 oo™

C) ST CHIGT, (F3fdn

D) 5341 G163 CHfeIm 46 TS F41 2@q®

Answer: B) (@2f& CHI6N CHRGIT

Explanation: 36 e Fa1 7@®

74. Question: SOWE FEAOF ST NI IRTACT FrSY@ya T FHIF A1 TR A TSE-
A) b9

B) S3%

C) 589

D) SSo oG FTfee F4T T @®

Answer: B) 5%

Explanation: 36 e F41 1@™®

75. Question: MO-RT-SNFI( (F°4 P 2P 3 R T IO §fea -

A) TS §fe
B) &=Fw §fe



C) FHEI e
D) IR &%

Answer: C) 3IEAT §f&

Explanation: SIFSI §f& (Algiers Agreement): Me-3e-9149 3 3@ (FIRINE (74 @ 27
3 RAES MY (ARl ST TN T AT ATTOIT St §fe” Trsfve 231 §fe
TFEF SIFY - b© T, $39¢ | §fF TEe - 8598 T (TSI (77 F99) e THET 31 -
SIS, ST §fe AFAFH - b9 (TCEFF, S»bo W

76. Question: '¢oo AT &N IO (R (T a THIF J(ES-

A) 'STET (B6 (ST (FF TFF =g FT
B) HIIN® STre1HP AT A6 ST AT
C) & S 2 (MMSES Tl TSTRIF o1 FAT
D) CTfe@® SAE =31fTe IoTT AYFS A6 =g FAT

Answer: C) & Sfifel X(® (MMSES 715 FSTRIT T FAT

Explanation: The crisis of the Soviet planned economy was beyond dispute by 1991.
Centralized planning no longer functioned, leading the economy into permanent stagnation.The
visible collapse of the economy inspired a timid party leadership to recruit a team of
sophisticated economists familiar with western market practices

77. Question: (S ST N(© ANSEHETT TOTH 0T AT s 3[@ra szl

A) 8,00,000

B) 80,000

C) 88,000

D) @8,000 o6 e 9T TR

Answer: The question has been canceled.

Explanation: G ifed Fa7 2@®

78. Question: I®F IGF (T (FAG?

A) T8

B) ST
SEGICIREI
D) feaeng



Answer: C) 2F9E T

Explanation: XIS 20 (W7 - faenIS | STRMES (W7 — ST RSTR JICTR (W - REaT =T 75Tsre
TETH (77 — FEATCT| (3: STTRG@IIGIT fFE1eT)

79. Question: AT TANSIET AFTF (NG TH-

A) 8935
B) SIRF tsr
C) 8945
D) f&fsifsy

Answer: A) 8938

Explanation: GCC (Gulf Cooperation Council) ZET &S SSIH Sl9T6! S ST (WISTET
26 TGP 8 AY@SF (6| A6 S>YS T P 2T 97 TawgF CNfT NAEF [ J35e |
A7 5T of

80. Question: FT s oo G-

A) b ISTE VbR
B) 4 3 Mk b

C) ¢ AMBEF babY
D) 58 TR 59

Answer: A) b I5TG SAb Yy

Explanation: 1 {327 Sgffas 2SET F1StefoF, TS 8 61T 3o Fos fMsI@d el FE|
T FTAT AT 3 97 Toelz b8 IFMR, SAb» W | T FIATGS A3 3 97 o % oy
Soe X 7 eI 9F g I 7 fFTe @@ B 87 J107 |

81. Question: TN FSTEES T A-

A) ferarnSiedT
B) &
C) f&qfe

D) o3Ed

Answer: A) fr8tS e



Explanation: sITe1fs% 0T Seed Sf&aT FRGCTT A56 18| & af6 SR aer AfHte e
FONE TN TSNS AT NHFTE ST HAM | (FARSIM (I > bo N FH ol 76 FF |

82. Question: 'THFNF (FT (FH EF A2 ?

A) STFRGA
B) ST
C) ST

D) 5w

Answer: D) &G

Explanation: FTSTST $NE RTNST (TR T A0 AF6 SN T FeTaT5e| Yot
T RIS HH 3 COEAF i IMRAF A I7 FE OINS FE | FHFNET Ta SI@E HINT FE
TA© TO@T (FT3T AF6 SHE@I AN FAT 2T BIB9S FIF|

83. Question: fF& SIS A ST IIF T FEA-

A) s> SIE
B) S ST
C) $>@8 ST
D) $>Qb T

Answer: C) 5>@8 ST

Explanation: - b ST NS AT Y94 FHT 2T | - S%WHTWWWWWWWFWI
- SN A% AT FrIEE [T ©NS (VF AR TGN ey SR 18 5[FS A1 e (3@ FrraEs:

T™F FEE

84. Question: *XEF TFA F1HS 7T YT T =NeT 3 STHI AT I FE AE FIFeI-

A) SFFIF T

B) 7F (@ (BT *TO@ I

C) (W@ Sd ST

D) &1 RS (W& IHT &

Answer: A) SFFIF famT

Explanation: F1ET T ST G Fo] (I SIFF I I 8T A ©f (W@ AP AN 1T
CTRY FHE 933 A b1 ©ISTOIG ITST F | N1 FEF ST T He 3|



85. Question: IEFRT HHIFH (VA TS FE-

A) %06 4T THete

B) 5 Ao 3eidn Tmiere

C) fEREEye 2R mfote

D) (TNAES %G1 Tafere

Answer: C) fSf&GT 261foR “afe® (In digital imaging method)

Explanation: SHIF (IR F187 FE 93t SN Aifete | 7 WofF 37 onfes @B =8 &7
RAfes 2R Tafere|

86. Question: (FTEV TFE Mt FYASIT QN oA (T BT A1 T (TR BT A FIFI-

A) 3T Ty T TeIwd (6 @

B) I3 T AT 9@ (6@ I

C) TF 8 AT Fawa J&f AT 11 f[wmrey
D) I3 5oy TIfeld TA9d TH

Answer: C) % 3 Mfad Foed & 3G o1 fAwpena

Explanation: (FTT IF FIFT IFNIH0 T 85 432 T 3T T 28TF N T T 9T SIS
HoTg ST | JTH B TG AeAte GIE = foasisie S37 S 432 e 9@ (@ 9130 37
(TR AT AT |

87. Question: IFCT IS GIFII-

A) R AT (T T A AW

B) o1 s IfFAE I35y A

C) G favys ARt (1 tofF 2w

D) (T 2T N 8 II% FIT N 51 JP© T

Answer: A) R AT (T TF A a6

Explanation: (& ST M 8 9% FF N 51 NP© 2T Fo1AF A3 @ AN 545 (&
(GO I % 2F (JIF ANAT A58 SHFIET IfeT |

88. Question: (T WETE *Ffs NPE TAE MefF I 2@ TN ©F =

A) ac f&fF



B) »o f&fF
C) sxo ffF
D) soa f&fF

Answer: B) »o &3

Explanation: When listening to a personal music system with stock earphones at a maximum
volume, the sound generated can reach a level of over 100 dBA, loud enough to begin causing
permanent damage after just 15 minutes per day!A clap of thunder from a nearby storm (120
dB) or a gunshot (140-190 dB, depending on weapon), can both cause immediate damage

89. Question: M@ @FIF &I FIFT (W T FIFA, IATR-

A) 7 STreTeatT Sfewea
B) (STeTIATE

C) famger
D) afestae

Answer: A) 5o STevaare afomere

Explanation: ST J¥e 43 T T (Y Ief5 T2 A IFTSIF o0 27 ©F J&5 7od
fAewerE A7 et M N IF| A% afesaa IE|

90. Question: T FIF S MO TS IHAIT tofF 21 9T T FIFI-

A) aft 2EFT 8 W JJT

B) aft 59 (W02 NS I

C) aft 2@ (B0 TF 97 A7 (@ 1IN 51 FA© TN
D) (e we oI F¥If{e 3@ WL ©rerelfy e 2

Answer: C) aft 2 (S0 I1F 97 AR (Jf¥ 19 525 F(© TN

Explanation: ST2owey 49 M S5l HToF ST Qe SRNITS BT T2 Harel (I T
AFINATCTR (ol AT T AL 6 e FA0© = 932 O 7ed F7 AT6T 27|

91. Question: fEIH-318 3HE Feite JINI-

A) STETEE ST SIS T T6Mo

B) SHIRE STRIES G ((F GHSTT AP

C) M6 BIFT I0ET FHIHTASIF FAF ST TFSATST
D) ©1F AGE =S MfHF ©refamar i




Answer: B) STIRA RIS 77 (Y& SRS JICTHA

Explanation: &I 218 sfsfaan 10w a5 a6 afFm31 T 71 o5 o [l o1 Iqmady
Frr21Se SR FIET (TS 3@ AR ISR Ao e 27|

92. Question: GG (T3 I 77 FHNTF Ie00 [HEFSNET JAHF-
A) @E8 FSIRNGE SR [ (AF BT 8T

B) FTGTER RIS 51 AHECTE AJEd

C) (FANE T9is FRHMeF SN (VF TF© AT

D) TSRS SR G (NF OHSET AT

Answer: A) (358 BTFIRIGIT STRATST 4T (VF O T

Explanation: Y8 S9X134 73 (Remote Sensing) 78 (¥ ™37 NGT TR S0 A7 AT 310
FFFNCIT TR (Sifed Tur T ©F N7 | NHFe A 37 THIT 4 Tao TN FE|

93. Question: =TT (1T ST+ Iy fFF OIS A7 Y STote IR FA© | FTH-

A) fF3= FuE afefax31t 9% 23

B) "M SIFFOE ST IR F1 I
C) ETF wifdte GIEd oz fAer i@ Srom@ IFE 3&

D) S IS IETH IR FIHEFH A1 27
Answer: C) STTH 7RGt B o T=e fAeT i Irenie $1HFd 36
Explanation: ST (M1F1(® AT JRSIE 16 I | 13576 IETH ASHE IN5io T 7o |

TRSIE 2 A FAFeqT I @Sy FA7 (516 (N3 ANET I STog ASH & IETH
SO FIE TBE ©F (NF1F TFHsIete IFTT FH0© TE|

94. Question: YT CHES JGIHC© HTEF EIENGT IO (T ©J40 976 X ©f I
A) 3% afie

B) RRETFIEF afG

C) AT FEARG

D) NEfmGfas affis

Answer: D) TG afvG

Explanation: ST CEIES ANGIET® SH1F 2ERE NG SO (J SF6 926 27 B AT TFIp O (5P



AT | (T NS FAHIRS (26 (SfF 27 TN 93 (6 THRG I™S @V 55 TN AF 549, 6 FF
Gy A7 S 0% TEARROEE G 8 L% = i (@

95. Question: FET (FES N (S T MO (@ MAF 5E (TG JE T | (1 S
Tfea Wor a7 e am=?

A) INT e
B) S1@guad &
C) sGrafers 2f&e
D) 6 23

Answer: D) @0 2f&id (Rocket Engine)

Explanation: FEFGA (@R SR 200 TN J63 (J0T 5 27 932 A1 39 Sl 76 @O
SR 0@ afT T I@6 | 932 NS FANA] (FE (FAIS FRFA|

96. Question: S IfFHII-

A) 335 T (T T6T M ST I

B) 930 &1 (&1 4ft T ¥ 27

C) ©IaT T (ST (b T 55 =X

D) aF1&F S & 2@ AQe T ST5F T

Answer: D) AF1&F a1 & 7T Fga TINS5 FE

Explanation: %8 3fFIF 91T 7M1 J& T @ T 5159 I 2 6T ©ITfe T3 7
FE| TS TNIN T2 I FSFI 200 36 A A =5 Afeer e T o7 Fa7 T3
97. Question: FJT (FANEF 19, 3 HNF-

A) ST 8 b7 RS STET ST T FE A

B) v% SIRSIF TAGE FI= AF

C) TfASF ST TG F1® NF

D) X, & 3 R 9F W (@I A

Answer: A) 57 8 54 I NET THEIT FE @

Explanation: Z51e {6 STH (STATH-S161 58 X1 A8 (- 5. 5 8 ST 7% e ForT a:
R, RATE NTEEF FE T35 (Fuifes e | JHF AP (SF ©© (SRTE 77 7|



98. Question: fAEa @ SfefT I5F?

A) T 916 A sar

B) I af6 (Nferss =rwref

C) T F(® AHEH 3 TREEAE2 JIT
D) Iy 936 v sl

Answer: C) 1Y J(® AR 3 AREESE JHT

Explanation: - 52 1 SoIf¥ T (T (S Fe[1® 95 f3HEe ST If% ©ra fove forey &3 Fong
(SN T FE, OF S NANIE el Fo17 27|

99. Question: (SINFFSIF SFTT AF FIHAF @I IRACR S O P, <fe 2%

A) T TEEA

B) JeSIfed Sy (AT

C) 338 FIfe (FT

D) F3b T3 (AT

Answer: B) I@S1fe SIfFy (T

Explanation: IR EF3F ST S N FFEFIQ (FNF TSI IIF0 | WG 190° Tad THEAT
FHoRIE (@A A AfACe | - af6 IRTIMCTE TH-176% 97T T FHTo1T M SAfoFT FER|

100. Question: ) (T I IR THHIT AP (V@ AT FFET [F FTMR© 2T ©NF T+ 27~

A) JTF IF
B) S&y¥a Iy

C) GIpst <.
D) forr® Iy

Answer: C) (IS a1y
Explanation: (I I STH01X SHET ST 3(© (Wb F¥ETH S AR T ©FF I 2 foro T3]



